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� ���������1��17.8��4/5

� ����������#true��#false

� �������'()��(cons 7 '())

� ���

� ���������names��less-than-5��first-is-apple?
�����
(define (less-than-5? n) ...)
(define (first-is-apple? a b) ...)
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� ���������1��17.8��4/5

� ����������#true��#false

� �������'()��(cons 7 '())

� ���

� ���������names��less-than-5��first-is-apple?
�����
(define (less-than-5? n) ...)
(define (first-is-apple? a b) ...)
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���������������every��������������������������������

(local [(define (first-is-apple? a b)
  (symbol=? a 'apple))]

  (choose '(apple banana)
'(cherry cherry)
first-is-apple?))

����������������

(local [(define (first-is-apple? a b)
  (symbol=? a 'apple))
(define al '(apple banana))
(define bl '(cherry cherry))]

  (choose al bl first-is-apple?))
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����������������������������������

(local [(define (first-is-apple? a b)
  (symbol=? a 'apple))]

  ... first-is-apple? ...)
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...
  ��������������������a�����b
    �������������(symbol=? a 'apple)
...
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����������������������������������

(local [(define (first-is-apple? a b)
  (symbol=? a 'apple))]

  ... first-is-apple? ...)
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...
  ��������������������a�����b
    �������������(symbol=? a 'apple)
...

������������������Intermediate with Lambda
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���anonymous function�������

(lambda (a b) (symbol=? a 'apple))

������lambda�����������������������������

(choose '(apple banana)
'(cherry cherry)
(lambda (a b) (symbol=? a 'apple)))
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���anonymous function�������

(lambda (a b) (symbol=? a 'apple))

������lambda�����������������������������

(choose '(apple banana)
'(cherry cherry)
(lambda (a b) (symbol=? a 'apple)))
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�������������λ�����������������
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> (lambda (x) (+ x 10))
(lambda (a1) ...)
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> ((lambda (x) (+ x 10)) 17)
27

����������������������������application����������������������������
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> ((lambda (x) (+ x 10)) 17)
27

����������������������������application����������������������������
��������������������������

��������������������������������������������������

> (2 3)
procedure application: expected procedure, given 2
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(define (f a b)
  (+ a b))

���

(define f (lambda (a b)
  (+ a b)))
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�����������������������������

(define (f a b)
  (+ a b))

���

(define f (lambda (a b)
  (+ a b)))
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������������������������������������filter��map�������

(define (eat-apples l)
  (filter (lambda (a)

  (not (symbol=? a 'apple)))
l))

 
(define (inflate-by-4% l)
  (map (lambda (n) (* n 1.04)) l))
 
(define (total-blue l)
  (foldr (lambda (c n)

  (+ (color-blue c) n))
0 l))
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������������������������������������������������������

map : (X -> Y) list-of-X -> list-of-Y

�������������������������produce ����������
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������������������������������������������������������

map : (X -> Y) list-of-X -> list-of-Y

�������������������������produce ����������

�����������

; make-adder : num -> (num -> num)
(define (make-adder n)
  (lambda (m) (+ m n)))
 
(map (make-adder 10) '(1 2 3))
(map (make-adder 11) '(1 2 3))
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(filter (lambda (a) (symbol=? a 'apple)) l)
(filter (lambda (a) (symbol=? a 'banana)) l)
(filter (lambda (a) (symbol=? a 'cherry)) l)
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������������������������������������������������

(filter (lambda (a) (symbol=? a 'apple)) l)
(filter (lambda (a) (symbol=? a 'banana)) l)
(filter (lambda (a) (symbol=? a 'cherry)) l)

������������������������������lambda�����������������������������

; mk-is-sym : sym -> (sym -> bool)
(define (mk-is-sym s)
  (lambda (a) (symbol=? s a)))
 
(filter (mk-is-sym 'apple) l)
(filter (mk-is-sym 'banana) l)
(filter (mk-is-sym 'cherry) l)
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������������������������������������������������

(filter (lambda (a) (symbol=? a 'apple)) l)
(filter (lambda (a) (symbol=? a 'banana)) l)
(filter (lambda (a) (symbol=? a 'cherry)) l)

������������������������������lambda�����������������������������

; mk-is-sym : sym -> (sym -> bool)
(define (mk-is-sym s)
  (lambda (a) (symbol=? s a)))
 
(filter (mk-is-sym 'apple) l)
(filter (mk-is-sym 'banana) l)
(filter (mk-is-sym 'cherry) l)

mk-is-sym������curried������������symbol=?
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�����curry������������������������������������������

; curry : (X Y -> Z) -> (X -> (Y -> Z))
(define (curry f)
  (lambda (v1)

  (lambda (v2)
  (f v1 v2))))

 
(define mk-is-sym (curry symbol=?))
 
(filter (mk-is-sym 'apple) l)
(filter (mk-is-sym 'banana) l)
(filter (mk-is-sym 'cherry) l)

��



����������������������

�����curry������������������������������������������

; curry : (X Y -> Z) -> (X -> (Y -> Z))
(define (curry f)
  (lambda (v1)

  (lambda (v2)
  (f v1 v2))))

 
(filter ((curry symbol=?) 'apple) l)
(filter ((curry symbol=?) 'banana) l)
(filter ((curry symbol=?) 'cherry) l)
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������������non-�������

; compose (Y -> Z) (X ->Y) -> (X -> Z)
(define (compose f g)
  (lambda (x) (f (g x))))
 
(filter (compose

not
((curry symbol=?) 'apple))
l)
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